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1. John approached someone waiting in front of a coffee shop (     ) it 

wasn't his friend. 

  ア. to that find only  イ. only to find that 

  ウ. that find to only  エ. to only that find 

 

2. Unfortunately, Willy's presentation was not (     ) his clients. 

  ア. good enough to please  イ. to please good enough 

  ウ. good enough please to  エ. to please enough good 
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ファイナルチェック 

 

解答 

1. イ. only to find that  2. ア. good enough to please 

解説と関連知識 

1. 不定詞・副詞的用法の「結果」に関する知識が問われている．頻出 5 パターンを暗記． 

2. 不定詞・副詞的用法の「形容詞の限定」に関する知識が問われている． 

  ➔ 形容詞 enough to V = so 形容詞 as to V「V するのに充分～」の表現．文法ポイントあり． 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A. 不定詞・副詞的用法の基本 6 パターン 

  1. 目的「V するために」  Ex. She went to the library to read the book. 

  2. 結果「そして V する」  Ex. She went to school to find the window broken. 

  3. 判断の根拠「V するなんて」 Ex. He must be rich to buy such an expensive car. 

  4. 感情の原因「V して」  Ex. I'm happy to see you again. 

  5. 条件「V すれば」  Ex. You will fall in love to hear her talk. 

  6. 形容詞の限定「V するのが」 Ex. This problem is difficult to solve. 

B. 「結果」の頻出 5 パターン 

  1. live to be C「生きて，結果 C（年齢）になる」➔「C まで生きる」   

  2. grow up to be C「成長して，結果 C になる」 

  3. wake (up) to find/see O (C)「目覚めて，結果 O と分かる」➔「気付いたら O」   

  4. ~, only to V「～して，結果 V する」➔「～したが，結局 V する」 

  5. ~, never to V「～して，結果 V しない」➔「～して，二度と V しない」  

C. 「形容詞の限定」の文法ポイント（完全・不完全） 

  1.   a. He is not old enough to get a driver's license. ※get の O は a license➔完全 

       b. This book is easy enough for children to read. ※read の O がない➔不完全 

  2.   a. I was too busy to watch television last week. ※watch の O は television➔完全 

       b. This problem is too difficult for us to solve. ※solve の O がない➔不完全 

  ➔ 主語と to V に意味上の S-V 関係が成立 ➔ to V の後ろは完全 

     主語と to V に意味上の O-V 関係が成立 ➔ to V の後ろは不完全（＝循環構文） 

      


